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Polynomial and Rational Inequalities



Polynomial Inequalities: Solve. State
the answer in interval notation.
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Test each region.

& 4. State the answer
(-0, -8y (5.29) |
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The factors have odd
multiplicity.

At each zero, the signs
will change because if this
was a function, the graph
would cross the x-axis.
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Solving Rational Inequalities
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Look out for undefined values!

Steps

1) Need zero on one
side and one term on
the other side.

2) Find the critical
numbers (real zeros of
the numerator and den.)

3) Make a number line
Test each region.

4) State the answer.
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